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ANSWERS

1. (&) Pink and Lady (calculations are required in one decimal place)

Pink

Lady

Gross Profit Gross Profit 129 154
—— X100 — X100 =45.4% |-=—= X100=50.5%
percentage Sales 284 305
Net profit Net Profit 61 47
— X 100 — X100=21.5% |-——=X100=15.4%
percentage Sales 284 305
Return on 47 + 5
[ [ —— X 100 X 100
Capital Net proflt before interest ¥ 100 | 150 + 108 250+ 17 750
Capital employed *
Current ration Current Assets 201 11:1 383 1.2:1
Current Liabilities 188 325 7
Quick ratio Current Assets — Inventory 110 0.6 1 90 0.3:1
Current Liabilities 188 325 7
Receivables 46 75
i — X 365 —— X 365
collection M;Llables X 365 284 305
period ares = 59.1days = 89.8days

*Capital employed =equity+ NCL

(b) To TToO0OOTO TOU MEIKTOU KEPOOUG gival WnAS kal oTig duo eTalpeies. H Lady €xel
WNAOTEPEG TTWARCEIG TOOO € ATTOAUTOUG ApPIBUOUG OO0 KAl O TTOO0OTO PEIKTOU
KEPOOUG. AUTO iCWG VA OPEIAETAI OE EKTTTWOEIG TTOU TIG £XOUV TTapaxwpenOei Adyw
MEYaAUTEPOU OYyKOU TTWANCEWV | 0€ WNAOTEPES TIMES TTWANONG TTOU TNG ETTITPETTETAI VA

TTOUAd iowg AOyw TnG TOTTOBETIag TNG ETTIXEIPNONG.
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The gross profit percentage is high for both companies. Lady, which has a
higher sales figure in absolute terms, also has a higher gross profit percentage.
It is possible that its marginally greater sales volume enables it to take
advantage of discounts. As the two companies operate in the same market, it is
possibly geographical location that makes the difference in the profit margin
Lady can make.

H eikéva 6oov a@opd 1o TTo000TO TOU KaBapou KEPOOUG Eival TTOAU SIAQOPETIKN WE TV
Pink va éxel ynAoTEPO TTOCOOTO (21.5%) atrd TNV Lady (15.4%) 110U O@eiAeTal KaBapd
oTa YnAOTEPA £600a OAWV TWV KaTnyoplwy TTou £xel n Lady . EmmpooBeta n Lady
€XEl va TTANpWOoEl TOKOUG daveiwy , evw n Pink dev €xel kaBOAou davela.

The picture is different when it comes to net profit percentage. Pink at 21.5%,
which is significantly higher than that Lady (15.4%). The main reason for this is
that expenses in all categories are higher for Lady. In addition, Lady is paying
loan interest, while Pink does not have any loans.

O Acgiktng KukAo@opiakig PeuoToTnTag Kal Twv U0 ETAIPEIWV Eival XAUNAGTEPOG
ATTO TOV YEVIKWG ATTOOEKTO 2:1 TTOU UTTOPEI VA EYKUUOVEI KIVOUVOUG.

21N mepirtwon Tng Lady o Aeiktng MNpaypatikig PeuototnTag €ival avnouyxnTika
XOauNAOG 010 0.3:1 Kal opeileTal 0TO YNAS €TTITTESO ATTOBEPATWY TTOU €ival KAl YIa
€vdeltn o1 autd gival dBUoKoAo va TTouAnBouv. H Lady pe TToAU xaunAd diaBéoiua
METPNTA QVTIMETWTTICEI TIPOBANUA PEUCTOTNTAG CUVETTWG, TTIOavVOV va unv gival o Béon
va KaAUWEI TIG BPaXUTTPOOECUES UTTOXPEWOEIG TNG

The current ratios of both companies are lower than 2:1, indicating potential
liquidity problems. In the case of Lady, the quick ratio is very low at 0.3:1.

Much of Lady Ltd.’s working capital is tied up in inventory, and the high
inventory levels suggest that inventory is not selling. Lady, with its low cash
balance and lack of liquidity, may have problems paying debts as they fall due.

H Méon MNepiodog Eiompadng cival TToAU wnAi kai yia TI¢ dUO eTaIpEieg Kal 101aiTEPA
yia Tnv Lady oTig 89.8 pépeg TTou €ival KAatd TTOAU peyaAuTepn TTEPiIOdOG atrd TIg 59.1
Mépec TNG Pink . H Lady trpétrel va aokei KOAUTEPO EAEYXO TTIOTWOEWV APoU OTAV Ol
XPEWOTEG OEV TTANPWVOUV £yKalpa augdveTal o KivOuvog va dnuioupynBouv aTTWAEIEG
aTTO XPEWOTEG.

The receivables collection period is high for both companies, but for Lady, at
89.8 days it is considerably higher than that of Pink, which has 59.1 days. Lady
Ltd needs to pay attention to credit control. The longer a debt remains unpaid,
the less likely it is to be paid.
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MapoAo Aoitrdv TTou n Lady €xel ynAOTEPO TTOOCOOTO PEIKTOU KEPOOUG,
AVTIMETWTTIEI TTPORARMATA PEUCTOTNTAG Eival AIYOTEPO ATTOTEAECOHATIKN KAl OEV
aOoKEi KAAS TICTWTIKG éAgyxo. H Pink Aoitrév, pe ynAoTepo Aciktng Arédoong
AtraoxoAoUpevwyv Ke@aAaiwv Bswpeital KaAUTEpN eTévouon.

In conclusion, although Lady has a higher profit margin, it has liquidity
problems, is less efficient and has ineffective credit control. Pink has a higher
Return on Capital Employed and is therefore a better investment

. Gross profit €115.800
e N— P bttt - 0,
2. a) Gross Ratio Net Sales X 100 ¥£243.000 X 100 = 47.65%

*(€50.200 + €194.800) — €2.000

Current Assets ~ €19.700+€14.900+€58.300

b) Working capital ratio = = ifies ~  €17.400+€36.000 L.r4:1
Trad \vables d _ Trade receivables X 365 = €14.900 X 365 =
¢) Trade receivables days = Net credit sales ~ *€192.800 T eLel O
28 days
*(€194.800 — €2.000)
Trade payables €17.400

d) Trade payables days = X 365 =50.81 or 51

5= ——mM—
Credit purchases €125.000
days

Costofsales ~ €243.000 - €115.800
Average inventory ~ (€60.500 + €58.300) /2

e) Inventory Turnover =

Note: The old terminology was incidentally used in this question — Please ask

your students to correct it.
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3(a) Formula

2016

2017

) . ) Gross Profit
i) Gross Profit Margin* = ———

Sales €3.842.600 0 £a0 €3.603.480 1 42 310
100 €7.605.000 T Yo €8.320.000 Ik
* please change to margin not markup
ii) Net Profit Margin = o2ty 100 | =299 3900 = 10.13% L7389 5100 = 9.58%
1) ttMargin == les £7.605.000 Bt €8.320.000 = 9900
Net Profit before interest €770.600 - €12.500* X100 = €797.340 - €12.500* X100 =
i) ROCE = om0 IO 5 €1.559.600 - €1.828.600 -
Total capital employed*
48.61% 42.92%
*(Total assets — total liabilities except
debentures)=
Equity +NCL=Total Equity *€250.000 X 5% *€250.000 X 5%
) ¢ Ratio = Current Assets €1.639.600 _ 4.43:1 €1.838.000 _ 36:1
Iv) Current Ratio = Current Liabilities €370.000 €510.000
Acid Test = Current Assets - Inventory €1.089.600 294:1 €1.218.000 _ 239:1
v) Aci =7 Current Liabilities €370.000 7T €510.000 <
vi) Rate of Inventory turnover = €3;762'400 Th 7.17 €4.716.520 — 806
Cost of sales (€500.0007+€550.0000 12 | (€550.000 + €620.000) /2~
Average inventor 100 i
9 y (€550.000 X 1) times
ii i i = €1.014.000 €1.203.000
vii) Receivables collection days X 365 = 48.67 = X 365 = 52.78 =
Trade receivab|es €7605000 €8320000
X 365
Sales 49 days 53 days
viii) Payables settlement (paym.) days = €370.000 X 365 = 35.4 €510.000 X 365 = 38.89
Trade payables €3.812.400 ST €4.786.520 ST
Purchases* 35 days 39 days

*Purchases = COS — open+clos.inventory

3 (b) To To000TO KABAPOU KEPOOUG €XEl PEIWBET KaTd 0.55% dnAadr atrd 10.13% 10
2016 o€ 9.58% 10 2017. AuTO utropei va o@eileTal o€ (1) augnon Twv 60wV
OUYKPITIKG PeE TIG TTwAAoEIS Kal (1) Meiwon Tou deikTn pIKTOU KEPOOUGS (GP%) Adyw

MEiwoNG TNG TIWAS TTWANONG A KAl aUENONG TOU KOGTOUG TWV QYOPWV.

The Net Profit Margin was decreased by 0.55% from 10.13% in 2016 to 9.58% in
2017. This could be due to (i) increase in operating expenses (ii) Decrease in
GP% due to lower selling prices or higher cost of Purchases.
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4. (a) Calculation of Closing Inventory

Given: Current ratio = 1.5

Bank + Receivables + Inventory
— =15
Current Liabilities

Therefore:

€20.000 +€180.000 + Inventory e
£€200.000 B

=) 1.5X€200.000 = €20.000 + €180.000 + Inventory
Closing Inventory = €100.000

(b) Calculation of Gross Profit

Given: Inventory turnover = 3 times

Cost of sales _
Therefore: - = 3 times
—  Average inventory

==) Cost of Sales = 3 x Closing Inventory
m=) Cost of Sales = 3 x €100.000
m=) Cost of Sales = €300.000

m=) Gross Profit = Sales — Cost of Sales

= €400.000 - €300.000
m=) Gross Profit = €100.000
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5. Marcella’s Pharmacy
Please correct the Inventory 31 December was €40.000 NOT €4.000.

Cost of sales* __ €850.000
Average inventory*  €65.000

(a) Inventory Turnover =13.08 times

In days = 28 days

13.08

*Cost of Sales = Opening Inventory + Purchases — Closing Inventory
= €90.000 + €800.000 - €40.000
= €850.000

Opening Inventory + Closing Inventory _

*Average Inventory = 5 — €65.000

(b) O Aciktng KukAogopiakng Taxutntag ATToBeudTwy deixVvel TTOOEG POPES TO XPOVO
QVOVEWVOVTAI TA ATTOBEPOTA PIa ETTIXEIPNONG.

O &¢ikTng auTdg £xel onuelwoel Peiwon katd 10 pépeg, dnAadr atrd 38 uépeg 10 2015
o€ 28 pépeg 10 2016, TO OoTTOIO dEixvel BeTIKA TAON. AuTd onuaivel OTI n €TTIXEipNON
avavewvel Ta ammoBéuara TG Katd 10 YEPES VWPITEPA ATTOPEUYOVTAG £TO1 JEYAAES
TTOCOTNTES ATTOBEUATWY OTNV ATTOBNAKN YIa TTOAU KaIpo (eiwvovTag €101 Ta £€00a
d1aTriPNONG Toug AAAG Kal TNV OECHEUON KEQOAQiIWY O€ ATTOBEPATA)

The Inventory turnover indicates how many times the business replaces its average
inventory. This was fallen by 10 days from 38 days in 2015 to 28 days in 2016 which
indicates a favorable trend since the business replaces its average inventory by 10
days faster and therefore avoids holding larger inventories in the warehouse for too
long (high stockholding costs and capital tied up in inventories)
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6. Pambina (Xinaris Vs Roussos)

(Gearing ratio)

*Share Capital + Reserves +

Debentures

*1.000+32.520

Xinaris Roussos
Ratio Formula Calculations (Given)
) €15.175
_ _ Gross Profit —— X 100 =
Gross Profit Ratio — X 100 €23.420
Sales 459
64.8% 0
€4.000
Current Ratio Current ASS_?FS =271 1.6:1
Current Liabilities €1.480
Trad ivabl €2.500 X 365 = 38.96
rade receivables —_— = 38.
Receivable Period X365 |€23.420 52 days
Sales
or 39 days
€8.245
Cost of sales =5.69 times
Inventory Period . €1.450
Average inventory 39 days
365:5.68 = 64 days
Fixed Return Funding €1.000 X 100 =
Total Capital Employed x €33.520* -
Debt / Equity Ratio
X100 =:-7% 3% 33%

To mooooTé MelkToU KEPOOUG TNG Xinaris gival ynAétepo katd 19.8% atmmd autd Tou
Roussou kal utropei va o@eileTal o€ d1AQOPOUS TTAPAYOVTEG, OTTWG ayopd TTPOIOVTWY
a1rdé AAAO TTpouNOeuTH o€ XauNASTEPN TIUN 1 € YNAOGTEPES TIMEG TTWANONG

Gross Profit of Xinaris is higher than that of Roussos by19.8% probably due to
higher selling prices or lower purchase prices

O &¢iktng KukAogoplakng Peuotdtntag Tng Xinaris €ival 1o Kovié oTo atmodekTd 2:1
AUTO gival pia €voeign OTI UTTOPEi va KOAUWEI TIG BPAXUTTPOBECUES UTTOXPEWOEIG TNG

OUYKPITIKG PE TNV ROUSSOS TTOU io0Ww¢ va avTIHETWTTICEI TTPORBANMATA PEUCTOTATAG
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The current Ratio of Xinaris is closer to the normal 2:1 compared to that of
Roussos which is lower and might be an indication of future liquidity problems

H péon mrepiodog ciotrpagng tng Xinaris €ival cuvtoudTepn KaTd 13 pépeg TTou mlavo
VO OQEIAETAI O KAAUTEPO EAEYXO TWV TTICTWOEWV.

The receivable period of Xinaris is shorter by 13 days and it could be due to
better/stricter credit control policy

O o&¢iktng KukAogopiakng Taxutntag ATToBepdTwy NG ROUSSOS gival CUVTOUOTEPOG
Kata 25 pépeg. Autd onuaivel 0TI Ta aTTOBEPATA TTWAOUVTAI YPNyopOoTEPA KAl
avTiIKaBioTavTal Je Kavoupyla KAvovtag €101 TTEPICCOTEPO KEPDOG.

Inventory Period of Roussos is shorter indicating that its inventory is sold
quicker and therefore more profit is earned

Kai o1 duo eTaipeieg £xouv XaunAo deiktn davelakng empdapuvong (Xinaris 3% and
Roussos 33%) 1rou gival €vdeign Ot xpnuaTtodoTouvTal KUPiwG atrd idla Ke@AaAaia
XWPIG va eapTouvTal atro dAveEIa KAl TUXOV KIVOUVOUG O€ TTEPITITWON KN
QTTOTTANPWHMNAG TOUG

Both companies are low geared (Xinaris 3% and Roussos 33%) indicating that

are mainly financed by internal funds and are not dependent upon loans having
therefore low risk in their capital structure.
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